CenLANA ASC Meeting

Central Louisiana Area of Narcotics Anonymous Area Service Meeting

Meeting convened at 12:15 pm on 1-21-2023

The meeting was opened by Ashley CW. with a moment of silence followed by the Serenity Prayer. Ashley CW.. read the 12 Traditions, and Daniella P.. read the 12 Concepts.

Administrative Service Committee

Chairperson- Ashley CW.

Present

Vice Chair- Dustin E.

Present

Treasurer- Trevis J.

Present

Secretary- Daniella P.

Present

ASR-

Vacant

ASRA-

Vacant

Subcommittees

H & I- Trevis J...

Present

PR- Robbie L..

Present

Literature- Rocky S.. (interim)

Absent

Policy- Erica C.

Present

Activities - Doug F.

Present

Group Service Representatives

Group		Voting	Host
Clean & Serene	Daniella	Yes	April
Jones Street	Frank A.	No	May
No Matter What	Robbie L.	Yes	June
Talking Heads	George Mc.	Yes	Jan 2023
New Life Group	John P.	Yes	Feb.
Serenity Sisters	Pam W.	No	March

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve the report.

Treasurer's Report: Read by Trevis (report attached)

Monthly Deposits:

\$353.00

Bank Balance:

\$1548,32

Previous Balance

\$1220.32

Checks Outstanding: \$50.00+

Other Expenses:

\$0.00~

Available Balance:

\$1548.32 to match bank balance

Available Balance:

\$1498.32 actual avail bal minus checks

Money Set Aside:

\$860.00-

Working Balance:

\$638.32

The treasurer read the report to ASC to submit Motion was made to accept the Treasurer's report. The Treasurer's report was accepted by ASC.

ASR Report: Read by Trevis J. (report attached)

Subcommittee Reports:

H & I:

Trevis

read the report

(report attached)

Public Relations:

Robbie

read the report

(report attached)

Literature:

Erica

read the report

(report attached)

(abs w/report attached)

Policy: Activities:

Doug

read the report

(report attached)

GSR Reports:

Clean & Serene:

Daniella.

Rocky (Interim) read the report

read the report

(report attached)

Jones Street:

Frank A

read the report

(report attached)

No Matter What:

Robbie

read the report

(report attached)

Talking Heads:

George Mc.

read the report

(report attached)

New Life:

John P

abs. w/o report

(abs.w/no report)

Serenity Sisters:

Daniella P

read the report

(report attached)

Old Business: (New or unresolved business from last ASC meeting).

501c4 status is official. All documents available regarding non-profit are available for viewing with Trevis J. Secretary to move ASR and ASRA to the administrative committee in the template. The hotline is now available through YAP. Literature prices will be the same until Jan 1st when World prices rise. GSR to bring this info to home groups. John P. to speak at the NYE event. Tom will no longer be speaking at the NYE event

New Business: Motion made by Robbie L, seconded by George MC to have all subcommittees submit with report all receipts of purchases. GSRs voted FOR. Motion passed. Motion made by Talking heads to change the price of the Spiritual Principle of the Day book to \$14.00. GSRs tabled this motion, due to the Literature chair interim not being present.

Elections:

Frank A was voted in as ASR interim. Robbie L was voted in as ASRA interim.

Announcements:

Rocky celebration at River City Jan 25th, Karen birthday celebration Jan 26th, CAR workshop Feb 4th at 12 pm, Feb 25th Policy Subcommittee at 12 pm, March 17-19 Unity Campout at Methodist Landing, Greg celebration in March - date unknown as of right now. Baton Rouge Regional Convention May 26-28.

Final Treasurer's Report:

Previous Balance: \$1498.32 Donations/Other: \$110.00+ Checks Written: \$25,00-Available Balance: \$1583.32 Money Set Aside: \$860.00-Working Balance: \$723.32 20% to RSC: \$0.00 Working Balance: \$723.32 \$1538.32 Available Balance:

Motion made to accept the final Treasurer's Report. All in favor. Motion to close, all in favor

Meeting adjourned at 1:53 pm.

Central Area

Treasurers Report 01/21/23		01/21/23
Monthly Deposit	\$75.00	12-20-22
Deposit New Years function	\$78.00 +	01-03-23
Deposit ASR	\$200.00+	01-06-23
Current Bank Balance	\$1,548.32	01-20-23
Previous Available Ending Balance	\$1,220.32	12-17-22
Outstanding Checks:		
Outstanding checks total	\$50.00+	
Avail Balance (to match bank)	\$1,548.32	01-20-23
Subtract outstanding checks	\$50.00-	
Actual Available Balance	\$1,498.32	01-20-23
Money Set Aside:		
Prudent Reserve	\$150.00-	
Activities	\$400.00-	
H&I	\$50.00-	
P.R.	\$30.00-	
Secretary	\$30.00-	
RSC Travel	\$200.00-	
Total Money Set Aside	\$860.00-	
Total Working Balance	\$638.32	01-20-23

Central Area ASR Report: January 2023

- Number of Groups: 7 Home groups
- Number of weekly meetings 10 meetings weekly with average meeting attendance:
 - Average meeting attendance: approx. 10-20+/-
- Number of H& I meetings per week:
 - o Number of treatment centers and locations: We currently service 3 treatment centers:
 - 1. Red River Treatment Center, Tioga 1st Tuesday's (Men). 3rd Tuesday's (Women)
 - 2. Steps Recovery Solutions, Pineville every 4th Friday monthly
 - 3. Edgefield Treatment Cheneyville every 2nd Friday monthly
 - Number of Correction Facilities and Locations
 - o none
- Total size of Central Area Fellowship: approximately 50+/-
- H & I Activity/plans:
 - H&I Learning Day- a potential plan is in the works for an H&I learning day/orientation sometime this year.
 - o H&I is planning to coordinate with P.R. to start a monthly meeting at one of our correctional facilities.
- PR Activity/plans:
 - o P.R. contacted one of our local T.V. stations to have them broadcast our newly formed PSA and will continue to contact more stations in our local area.
 - P.R. is in the planning stages of doing our annual poster drive and they continue to keep our local meetings schedules updated in the data base and distribute them to some of our local facilities where H&I does not have panel meetings and other community areas that will allow us to distribute them.
- Other community activities: None planned right now.
- Major accomplishments: Our Area Activities committee continues to host events in our area, and we
 invite our local treatment centers to attend. We have combined our sub-committee's due to the small
 size of our fellowship in our Area and our subcommittee meetings are well attended and the work of
 these combined committees are being accomplished. We have also started a Women's Meeting on
 Mondays at 7pm.
- Specific problems or situations: We have been informed that federal and state policies that affect our local treatment centers, drug courts and other recovery related programs are not allowed to mandate a 12 step fellowship during and after treatment due to the fellowship using the word God which they consider religious affiliation under their policy of best practices. This is discouraging to the staff at these facilities because they understand the importance of a 12 step program and recommending that to their clients during and upon discharge from treatment. This is one of the reasons why our meeting attendance in our Area has dropped. We are trying to counter this by inviting the treatment center clients to volunteer to attend our functions and meetings and consistently doing H&I & P.R. work there. We also had some members from our local sober living houses such as Oxford and similar affiliations tell us that these places are trying to force and or discourage their residence/clients from attending N.A. meetings.
- Area plans for upcoming year: Our Area plans on bidding for the 2024 Convention and we plan on holding our 2023 Convention Fundraiser in late April to early May.
- Region Donation: Central Area is donating \$90.00 to LARNA for this Quarter

In Service: Trevis J Central Area H&I Chair/Treasurer

H&I Area Report

H&I still continues monthly meetings at the Red River Treatment Center on the 1st Tuesday from 6:30-7:30pm with the men and on the 3rd Tuesday of the month with the women. We continue H&I meetings at the Edgefield Treatment Center on the 2rd Wednesday or Friday of the month from 6:30-7:30pm. We are also meeting at the Steps Recovery Solutions treatment facility on the last Friday of the month from 6-7pm. Erica C. expressed interest in being a panel leader and she was voted in as panel leader for the Edgefield treatment center at our last subcommittee meeting.

I would like to thank all those who are a part of this vital service to reach the still sick and suffering addict.

Respectfully Submitted Trevis J H&I Chair

Public Relations Report Jan. 2023

I am currently still working on having our PSA's broadcast on the local to stations but I have had trouble contacting the agent I was working with. I do not have an update on working with the Jails to upload the NA literature on the inmates media devices. I am doing my best to keep the website and meeting list updated. I will be working with H&I to fulfill any obligations needed to reach the Suffering addict.

Thanks for letting me serve,

Robbie L. PR chair

Literature Area Report

Greetings members,

Currently I have \$415.06 worth of already purchased literature with \$19.00 cash on hand. I sold \$74.00 worth of literature since last Area and ordered 4 basic texts for \$57.00 prior to the NAWS price increase.

Prices have gone up on literature. Our committee voted to keep the prices the same since the literature that we have on hand was purchased at the old prices. We will access the price of literature at or near our cost which has to include shipping once we start ordering literature from World at the new prices.

I will submit with this report the literature spreadsheet that document our current inventory and sales.

Thank you for allowing me to be of service.

Rocky S Literature Chair Interim

Main Monthly inv. Report

Date: 01/21/2023

Item	Quantity	Co	st	Co	st Total	Sale	e Price	Sa	les Total
Basic Text	4	\$	12.15	\$	48,60	\$	14.00	\$	56.00
Spiritual Principle of the Day	4	\$	13.00	\$	52.00	\$	16.00	\$	64.00
Guiding Principles	1	\$	11,65	\$	11.65	\$	14.00	\$	14.00
It Works How & Why	3	\$	9.55	\$	28.65	\$	12.00	\$	36.00
Living Clean	1	\$	10.35	\$	10.35	\$	12.00	\$	12.00
Just for Today Meditation	3	\$	9.55	\$	28.65	\$	12.00	\$	36,00
Step Working Guide	2	\$	9.00	\$	18.00	\$	11.00	\$	22.00
NA White Book	57	\$	0.68	\$	38.76	\$	1.00	\$	57.00
Totals:				\$	236,66			\$	297.00
Tag / Medallion / Chip							-		
White	23	\$	0.56	\$	12.88	\$	0.75	\$	17.25
30Day	30	\$	0.56	\$	16.80	\$	0.75	\$	22.50
60Day	23	\$	0.56	\$	12.88	\$	0.75	\$	17.25
90Day	65	\$	0.56	\$	36.40	\$	0.75	\$	48.75
6Months	22	\$	0.56	\$	12.32	\$	0.75	\$	16.50
9Months	20	\$	0.56	\$	11.20	\$	0.75	\$	15,00
1Year	54	\$	0.56	\$	30.24	\$	0.75	\$	40.50
18Months	14	\$	0,56	\$	7.84	\$	0.75	\$	10.50
2+ Years B&G	19	\$	0.56	\$	10.64	\$	0.75	\$	14.25
Chips									
White	0	\$	0,40	\$	-	\$	0,60	\$	
Medallion	8	\$	3.40	\$	27.20	\$	5.00	\$	40.00
Totals:				\$	178,40			\$	242.50
				\$	415.06			\$	539.50

Cash	
Money from Area	
Literature Sold	\$ 74.00
Previous Orders	\$ 57.00
Current Orders	
Cash Turning In	
Cash on Hand	\$ 19.00

Hello family my Name is Enica I am an addict Thene will be a policy workshop on Feburary 25, 2093 at 12pm D Riverscity club house Duthis day we will begin neviewing policy to see what needs to be a updated, changed, on voted on Thankyou and allowing me to be of service!

Enical.



(no subject)

1 message

Douglas Fearon <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Fri, Jan 20, 2023 at 10:24 PM

ACTIVITIES REORT JAN. 21,2023 DOUG F.-CHAIR

My name is Doug and I am an addict. The new years eve party was a success and gone. The treasurer made a deposit of \$78.00 from it. We had meeting last Saturday and discussed a few things. March 11 on having a unity day with food and a couple of speakers at the Clubhouse. Discussed a little about having the fundraiser for the convention in April having chicken. We need support at our meetings to discuss activities. It didn't help when someone split the meetings up when the sub committees meet.

MORE WILL BE REVEALED, DOUG F

Hello Family.

Chan & Serene is doing well.

We still are holding meetings every sunday night at 7pm here at River City Ciutohouse. We average 15-20 mooras attendes per meeting. We have an Area donation of \$40.00 at this time. We have 2 birthdays coming up on Feto 19th at 7pm. Dominique T. celebrating 8 yrs, Stephanie M. celebrating 14 years.

Yhank you for allowing me to continue to serve,

Dani P. CIBR Clean & Sevene

Jones Street

	1-21-23
	Hey Family, Jones Street is doing well. We still have meetings every Wednesday at
	Jones Street is doing well. We
	Still have meetings every Wednesday at
	500 Edgewood Drive Pineville, La 71360.at 70m. We have I birthday coming up (River City) Rocky 5. with 7 years. We average 3-7 people at our meetings. This month we have an AREA donation of 20.
	Rocky S. with Tyears. We average 3-7
	people at our meetings. This mouth we have
	an HREH donation of 720.
	Thank you for allowing me to be of service. Frank A.
	Frank A.
	Jones Street
The second	Jones Steet
-	
TOTAL PROPERTY.	
THE PERSON NAMED IN	
The second second	
Salah Barrela	
TOTAL SECTION AND ADDRESS OF THE PARTY OF TH	
- Special Spec	
and in constant	
and Shannan	
Latin distance.	
Constraint Con-	
Accountable.	
ALC: N	

No Matter what Jan 2023

We are still having meetings Thursday nights at 7. We have two birthdays coming up. Karen with 1 year: Jan 26 Greg H with 3 years: March?

Thanks for letting me serve,

Robbie L.

Talking Heads 1-21-23 Hey family, Talking Heads & isdoing good. We have meetings on Toesday and Fridays at 2 pm to 8 pm. We are having a Basic Text Study on Tuesday's and have been having a good turn out, It sa'll can tell you other members to bring their, Busic Text and come share their experience strenght and hope, We are donating \$50 In Loving Service



Serenity Sisters



Area Report January 21, 2023

Hello NA family,

As you all know, Serenity Sisters was not doing well and was going to close. I have taken it upon myself to keep this from happening. I have received the key from Pam and have been opening the Serenity Sisters meeting at 7pm every Monday. In the event of my absence, Erica has agreed to open. Since our last Area meeting, I have opened up 3 Mondays in a row, with decent attendance. We average 5-6 attendees per meeting. We have taken in donations at each meeting which I was directed to use for our rent, so we have no Area donation at this time. I understand that I am already GSR for Clean and Serene and would like to further discuss my role in Serenity Sisters, as I know that I cannot be GSR for both. Until we get some concrete members in Serenity Sisters and can appoint a GSR as well as other roles - I will be reporting back on the meetings progress if allowed.

Thank you for allowing me to continue to serve,

RIVER CITY CLUBHOUSE

DATE:

Motion Made By: Robbie Le Seconded By: George Med

Motion: To have with the submittee submit with

Reports all reciebts or purchases.

Purpose To help keep the accountability to the area by showing how things are purchased at the cost They are purchased at.

Intent To keep the finances of the theoreter committee
Transparent

For - 4
Against Abstain -



DATE:

Motion Made By: TAlking Heals. Seconded By:

Motion:

Change the price of the Spariol Priveipal Book to \$14.00

Purpose

For the News and

Intent

New comes

For --

Against -

Abstain -

Taxoled due to lit. insterim not being here.

Passed Failed

NOACNA XIV

(New Orleans Area of Narcotics Anonymous)

FULL FRUIT OF A LABOR OF LOVE

The Journey Continues

July 6 - 9, 2023

Hilton New Orleans Riverside 2 Poydras St., New Orleans, LA 70130 (504) 561-0700

Room Rate: \$135.00

NOACNA XIV: P. O. BOX 57207, NEW ORLEANS, LA 70157

www.noacna.org noacnareg@gmall.com
Registration Chair: Sheila W. (504) 339-3753
Co Chair: Margaret M. (504) 319-6932

DEADLINE: JANUARY 6, 2023 (must be post-dated by 01/08/2023) DO NOT MAIL CASH ------Cut or Tear Here------Please Print Clearly **NOACNA XIV** DATE: ____/__/ Name:_____Ph# (_____) Address: City: _____ State: ____ Zip: ____ _____ X \$30 = \$____ Pre-Registration (til 1/8/2023) Cash _____ X \$40 = \$ _____ Debit/Credit Registration (after 1/8/23) Full Pre-Registration (til 1/8/23) _____ X \$150 = \$ _____ Money Order Full Registration (after 1/8/2023) ____X \$160 = \$ ____ Banquet ____X \$60 = \$____ Concert _____ X \$30 = \$____ _____X \$30 = \$_____ **Fashion Show Newcomer Donation** Total

LOUISIANA REGIONAL CONVENTION XXXIX



Baton Rouge, La May 26-28, 2023



Baton Rouge Marriott
5500 Hilton Avenue
Baton Rouge, LA 70808
Room Rate: \$129/night
Scan QR code to book online ->



	Description	Amount	Cost	Quantity
Sen	Pre-registration (before January 1, 2023)	=	X \$35	
	Registration(<i>ofter</i> January 1, 2023)	=	X \$45	
	Saturday Night Banquet	=	X \$50	
Bat	Newcomer Donation	=		
	Total Amount Paid			

Send check or money order pavable to: LRCNA 2023 P.O. Box 65328 Baton Rouge, LA 70896

Phone:	
Email:	
Additional needs:	
	Email:





FREEDOM GROUP 31



FEB: 21 2023 10AM- 9P

PLACE: ACADIAN CARES

811 MLK St. Lafayette La.

FOOD. FUN & FELLOWSHIP: \$5 DONATIONS (NATD) 50/50, DOOR PRIZES: CLEAN TIME COUNTDOWN AND MORE: SPEAKERS FROM OUT OF TOWN!!

INFO: CALL (337)3665369